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If a,b,c > 0,ab + bc + ca + 2abc = 1,then :
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We shall first prove the following : z 2l =2 z
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Va,b,c>0|ab+bc+ca+2abc=1andnEN
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n = 0 and then : () is equivalent to : Z x > 6, which is true via (m)
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Chebyshev 1 via (m)
[Case 2]n € N* andthen:ZxZ““ z 3 Zx zxzn >
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z:(x“)2 >2 Z y"z" = () is true and hence, combining both cases,
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(x) istrueVx,y,z > O| Zm: landneN,"=" iffx=y=z=2
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"= iffa=b=c=5andputtingn=2 we get :
zas_zzbz 3 Vabc>0|ab+bc+ca+2abc—1
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"= iffa=b=c=§(QED)



